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719 11004 5.14. g - OlEfR 2 & YR (EH)
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711 10991 5.13. 45T - OlEfR S & M2 2 (5H)
710 10987 5.13. e o= siiel ¥ =4 MEol = (&)
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705 10951 5.12. 33 - OlEfR 2 & Meo|z 2 (5¢)
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702 10955 512. SH27 - OlEfR 2 & MES| 2 (&)
701 10945 5.12. HET - OEfR 23 & Meo|2 2l (5¢)
700 10941 5.11. YT - OlEfe S8 & MEYe
699 10946 5.11. LM - OEfR 23 & MEYA(EH)
698 10954 5.10. $s7 - OEfR 23 & ME9| 2 ()
697 10961 5.10. S0 - OlEfR 2 & Meo|z 2 (5¢)
696 10878 5.09. A7 - OEfR 23 &d  IAXL=SELEA(ER
)
695 10936 5.11. Mz - OlEfR S & MEQ =2 (&)



Z|Ab

_._.A._ﬁ

&1

ml
=
110

7l
Bl

)

!

EtA|Z Of (&

o
N
nl

mu

c

3

.l

JEE

10932 5.11.

694

Ol

10935 5.11.

693

10927 5.11.

692

10929 5.11.

691

10912 5.11. M

690

2 (&

oleq

10920 5.11.

689

O[EH

10930

688

10925 5.11. M2

687

10914 5.11. e

686

)

_?‘;_]

MEo|=3 (5]

o
=
nl

mn

o

t

Ol

10921 5.10. St=2

685

H(E

JEE

10922

684

ol

10895 5.10.

683

(&)

100
Al
<H

10896 5.10.

682

10889 5.10.

681

10879 5.10.

680

H(E

JEE

10891 5.10.

679

JEE

10887 5.10.

678

)

_?‘;_]

MEo|=3 (5]

o

=

mn

o

t

Ol

10888 5.10.

677

10890 5.10.

676

10881

675

)

2

MEo|=3 (5]

10883

674

10898 5.10.

673

10897 5.10.

672

10882 5.10.

671

o (5|2

|=

JEE

-

__A;
o0

10880 5.10.

670

)

%]

MEo|=3 (5]

o
=
nl

mn

t

O[EH

10885 5.10.

669

10886

668

10884 5.9.

667

10892 5.09.

666

H(E

oleq

10894 5.00.

665



Z|A}

_._.A._ﬁ

&1

ml
=
1o

£
ey

E|#)

o

L
100
-

_Zn_
<H

JEE

10893 5.00.

664

)

=

MEo|=3 (5]

5.09. Mz
MeE+

10871

663

(ElH

|

oH
3o

Hetof

&0
_2_|

i
XD

0=
(Ife)

el

10862 5.00.

662

a1t

10866 5.09.

661

10856 5.09. M

660

10859

659

10870

658

10869

657

10867 5.00.

656

10861 5.09.

655

10873 5.09. gA

654

10863 5.09.

653

(&)

10855 5.09. T

652

10868 5.00.

651

10850 5.08.

650

10828 5.08.

649

)

e

EtA|= Of (&

0

10830 5.08. 2f

648

10836

647

)

e

EtA|= Of (&

o
=
|

mn

pyu

&

3

.I

OlEf&

50
iy

10826 5.08.

646

10838

645

(E1%)

10827

644

10829 5.08.

643

10840 5.08.

642

—

10831 5.08.

641

(£12)

ofJ

Ofy

-

00
Lk

_Zn_
<H

10839 5.08.

640

£|3)

o)

Ofy

-_—

00
L)

_—Al_
0

10832 5.08.

639

JEE

5.08. =24
PARS

10833

638

XO
_2_|
N

E{7|

10789 5.02.

637

(EI12)

EETE

X0
_z_l

N
XD

=
Ile)

e

10790 5.02.

636



rf
rE

635

634

633

632

631

630

629

628

627

626

625

624

623

622

621

620

619

618

617

616

615

614

613

612

611

610

609

608

607

606

rig
2

10779
10771
10750
10749
10747
10745
10717
10691
10693
10683
10681
10659
10658
10644
10635
10632
10597
10610
10589
10584
10569
10575
10588
10559
10564
10524
10528
10537
10522

10526

sy
5.01.
4.30.
4.27.
4.27.
4.27.
4.27.
424,
4.21.
421,
4.20.
419,
4.18.
4.17.
4.17.
4.16.
4.16.
4.15.
4.14.
414,
414,
414,
414,
4.13.
4.13.
413,
4.12.
4.12.
412,
4.12.

4.12.

H22]
TES

Hehes

oo ox oM
rz Hr  oc
4 4 4

oY
ac
-4

Nepes

08
Hl

21 Aot

0|2
o}

0|2

ERAIE 8712} 3

#9641 8=

el (el
o
o oo
e e
-|N| -I)jl
ox | oX

gg
o
X
Jpw
AN
oX

ESN

Mo 2 (ElH)

A (El2)
REDELICE)
EENERICE)

A2 (5] 2)

ME2|=3 (5[)

MEo|=3 (5[)

HeloE (&)



re
rE
rig
R}
Jiok
2
ne
X
N
=
2
ol
=
[
2]
Jpw
%
N
E
>
o

605 10521 4.12. H4ET o= sflel = 23 Ll EETERR)
604 10520 412 H4E7 o= sfiel 4= 24 RN R TEER)
603 10525 4.12. S37 o= sflel 4= 23 RN R TERS)
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529 10228 4.02. T2 - T2 w3l MEHA(EH)
528 10142 43, 247 - ol 3 SHY2HRA(EY)
527 10087 43, Mz o= ofiel 4= 23 Ll EETEER)
526 10106 43. St o= sfiel ¥ =4 MEo 2 (&)
525 10117 43, A7 - oIz Meo|2 2 (5¢)
524 10122 43, SHEeT o= sfiel 4= 23 RN TGRS
523 10146 43, g7 o= sfiel & =3 SO (E)
522 10145 43, ze7 o= sflel = =3 e ERSIEE)
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519 10147 43. S Ol= ofiel 8= =4 2| =AE (E2)
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488 9949 4.01. YH - T2 W3 MEHA(EH)
487 9931 4.01. DA o= sfiel 4= 24 EtA|= O 2H(E|R)
486 9911 4.01. gz = sfiel = =3 Meol= 2 (52)
485 9944 4.01. 8OIA| Sl ofiel 4= 23 EtA|= O 2H(E|R)
484 9974 401, Mz o= sfiel ¥ =4 MEQ 2 (EH)
483 9946 4.01. Mz U= silel = 23 Meo|z 2 (5)
482 9939 4.01. 33 - #8669 M= RN TGRS
481 9951 4.01. A2l AT QI sfiel ¥= =4 EetoiE A (El1H)
480 9963 4.01. AL QI AT QI siel 4= =4 E2loig 3 (51 H)
479 9950 4.01. ATH 2l ATH O sfiel 4= 24 RN TGRS
478 9932 4.01. Oz et sfiel 4= 23 oo (E[)
477 9930 401,  SUHRF FHLICE ofiel 4= 23 Meo|z 2 (52)
476 9912 3.31. YAl - el = MEO0HHHER(E]2)
475 9929 3.31. griT = sflel = 23 OHE R (51 2)
474 9864 3.31. Z27 FHLICE sfiel 4= 23 LEAEEAEH)
473 9870 3.31. YAl - #9734 = EFAIS= Of2H(ALE)
472 9800 3.31. e - #9734 82 Ll EETEER)
471 9867 3.31. YA - SMEAY HE MR (E[2)
470 9883 3.31. Mz o= sflel 4= 23 RN R TERS)
469 9810 3.31. ot = oflel 4= 23 RN EETEER)
468 9849 3.31. Ot~ O], FHLC, SiA|R sfiel 4= 23 M (EI)
467 9829 3.31. il = silel 4= 23 Meo|2 2 (5¢)
466 9859 3.31. S o= sfiel 4= 23 Meo|z 2 (52)
465 9837 3.31. ot - 27 03| e MR (E[)
464 9812 3.31. ot - 27 03| 2 MR (E[2)
463 9876 3.31. ot - 27 w3 Meo|z 2 (5¢)
462 9852 3.31. 37 - 27 3| RN R TERS)
461 9879 3.31. 2okt - T2 Wg| A M EH (EH)
460 9821 3.31. Ly o= sfiel 4= 23 Atz | 2 (2] 2)

459 9854 3.31. dg+ Ol= sfie] g= = S22 HE (5 H)
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428 9757 3.29. = - T2 W3] 2 LR EETEER)
427 9696 3.27. AT - 27 w3 RN TGRS
426 9613 3.29. R o= sfiel = =3 MEYU(E )
425 9627 329. AMCi2 = ofiel 4= 23 MEHR(E2)
424 9599 3.29. I o= ofie] = =3 MES| 2 (&)
423 9628 3.29. g7 = o2l = =3 SetofE el (E)
422 9642 3.29. A7 - #9572 M= RN TGRS
421 9607 3.29. g7 = sfie] & =3 ME9| 2 (&)
420 9603 3.29. A7 o= sflel = =3 Meo|z 2 (5%)
419 9633 3.29. Mz o= sfiel 4= 24 MEYA(EIH)
418 9641 3.29. =27 - SIS M2 =2 (E1H)
417 9644 3.29. otz o= ofiel 4= 23 Ll EETEER)
416 9652 3.29. et - #9525 Y= SO (ElH)
415 9610 3.29. Zhett - #9525 = SelofHA ()
414 9629 3.29. Zett - T2 w3l HelofE (51 H)
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